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import java.util.Scanner;

public class Student5

public static void main(String[] args)
{

Scanner unos = new Scanner(System.in);

System.out.print(*Ime studenta ');
String imes = unos.next();
System.out.print("'Prezime studenta ");
String prezimes = unos.next();
System.out.print(*'Status ");

String tips = unos.next();
System.out.print("'Broj indeksa ');
String indekss = unos.next();

student studentl = new student(imes,prezimes,tips, indekss);

studentl.postavilD();

System.out.printIn(''Studentl "+"Sifra "+studentl.uzmilDQ+" "'

+studentl._uzmiime()+" "+studentl.uzmiprezime()+"
"+studentl.uzmitip(QQ+" "+studentl.uzmiindeks());

int sifra=studentl.uzmiNOVIID(); // zove static metodu
System.out.printIn("’'Slijedeci slobodan ID= " + sifra);

}

class student
{ public student(String 1, String p, String t, String n)
{ 1me = 1;
prezime = p;

tip = t;
indeks = n;
id = 0O;

}

public String uzmiime()
{ return ime; }

public String uzmiprezime()
{ return prezime; }

public String uzmitip(Q
{return tip; }

public String uzmiindeks()
{return iIndeks; }

public int uzmiID()
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{ _
return id;
¥
public void postavilD()
{
id=novilD; // postavi ID na slijedeci slobodan broj
novi ID++;
3
public static int uzmiNOVIID()
{
return novilD; // vraca static
3

private String ime, prezime, tip, indeks;
private int id;
private static int novilD = 66;

}
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